2 | 3 4 | | 5 6 | 7 8

This document is the property of Comfort System Scandinavia Aktiebolag and may
not be copied without our written permission, and the contents thereof must not

be imparted toa third party nor be used for any unauthorized purpose.

Contravention will be prosecuted.

| | REVISIONS
5 ;\\@385]027 L&sspak M8x20 ersatts med AA208083 Ratt 2019-04-04 o5
6 AA208085 ersdtter b&de AA208083 och AA208029. 2019-12-05 oS
7 AA208085 ersaitts med GN300 $63 M8x20 2021-10-27 Jc
OK. 2021-11-04 %ém? %Wm
Nr. Artikel Nr. Ben&dmning Antal
1 |CS490010 Chassi Serveringsbord 1
2 |CS490020 Undre Telesk&pror 1
3 |CS490030 Ovre Telesk&pror 1
4 |AA308045 Blindnitmutter M8 UPO 55 4
5 |AA202153 Lasbricka 8,4 1
6 |AA208085 Stjé@rnratt 60x22 M-8x20 Svart 1
7 |AA202096 Andavslut 40x30x1-3 4
8 |CS490002 Fiaderplat 1
9 |CS490003 Handtag 2
10 |[AA201260 Axellds 2
11 |AA208008 Andavslut IKPK2521-23S 2
12 |AA208047 Bussning med flans 2
13 |AA208018 Blindnit @4x8 4
14 |AA208005 Mébelknapp MPS M8 1
15 |AA208030 Mutter Mé6M M8 fzb 1
16 |[AA208031 Stoppskruv Téss M8x30 fzb 1
17 |P49.01 Marketiket Serveringsbord 1
18 |D1.01 Doomdekal Comfortsystem 1
19 |CS490042 Pl&t 2
20 |[AA202219 Bricka SRKB @12,5x28x2 fzb 4
21 |[AA208036 Dubbelhjul 65mm m.broms 4
22 |AA208035 Gdangad Tapp 4
23 |CS400702 List bordsskiva 2
24 |CS490001 Bordsskriva 1
25 |AA208091 Systemskruv SYFX 6,2x12 FZB 8
26 |P49.02 Etikett Stella Max load 1
27 |GN300-S63-M8x20-N L&sspak 1
VikE Wiaterial
7393.00 g
Konstruerad Av Ritad Av Skapad Datum Godkand Av Generell Tolerans: Skala
ik 1C 2021-10-27 | 17 sy 15 L (o)
Agare Sokvag \\ﬁle01.csab.IocaI\U\C’vztjklai‘:;.\s:'::-éz?s;ggzbizl\PDF\CS% Serveringsbord Rev 7
Titel / Benamning
Notera: "R HoxcAag “0en 18 Serveringsbord
1. Mutter AA208030 och Stoppskruv AA208031 = T ComToraya se
monteras med loctite 2701(Grén). ComfortSystem pyyss Nr
CS49 7 113

o

2 v 8 | 4 AYE | : | 7




-

This document is the property of Comfort System Scandinavia Aktiebolag and may
not be copied without our written permission, and the contents thereof must not

be imparted toa third party nor be used for any unauthorized purpose.

Contravention will be prosecuted.

Vikt: Material:
7393.00 @
Konstruerad Av Ritad Av Skapad Datum Godkand Av Generell Tolerans: Skala
ik 1C 2021-10-27 | 17 sy 15 (o)

Weld acc. to EN 1S013920 B

Agare

o 0B

Comfoi"_?System

- fair trygg omvirdnad

Vistakullevagen 18
Box 4034

561 04 Huskvarna
www.comfortsystem.se

Tel 036-515 90
Fax 036-500 01

Sokvég \\fileO1.csab.local\Utveckling\STAB-CS\Sangbord\PDF\CS49 Serveringsbord Rev 7

Titel / Bendmning

Serveringsbord

Artikel Nr

Cs49

Blad

2 (3)

o




CS490042
P CS$490002 \\\\
(Fiaderpldt monteras
mellan skiva och plat)
r

CS490001
- TN

|
i
|-

- DETAIL A
SCALE1:2

This document is the property of Comfort System Scandinavia Aktiebolag and may
not be copied without our written permission, and the contents thereof must not

be imparted toa third party nor be used for any unauthorized purpose.
w

Contravention will be prosecuted.

666 min.

1026 max.

Vikt:

7393.00 g

Material:

Konstruerad Av Ritad Av

J] JC

Skapad Datum

2021-10-27

Godkénd Av

J]

Generell Tolerans:

ISO 2768-1 m Bending = c
Weld acc. to EN 1SO13920 B

Skala

1:10

Agare

o (0EE

Comf :t;System

- fir trygg omvdrdnad

Vistakullevagen 18
Box 4034

561 04 Huskvarna
www.comfortsystem.se

Tel 036-515 90
Fax 036-500 01

Sokvég \\fileO1.csab.local\Utveckling\STAB-CS\Sangbord\PDF\CS49 Serveringsbord Rev 7

Titel / Bendmning

Serveringsbord

Artikel Nr

Cs49

Blad

3 (3)

[V 3

o




	Sheet1
	Drawing View1

	Sheet2
	Drawing View3

	Sheet3
	Drawing View4
	Drawing View5
	Detail View A (1 : 2)
	Drawing View7
	Drawing View8


